

워크프로그램 2025 클러스터 2 초안 주요 내용

<'25.01.15, 한-EU연구협력센터>

- ※ 동 내용은 '24년 10월자 <u>초안 문서</u>를 기반으로 하므로 '25년 초 공개 예정인 최종 워크프로그램 내용과 일부 다를 수 있음
- ※ 클러스터 2: 문화, 창의성 및 포용적 사회(Culture, Creativity and Inclusive Society)

□ 도달목표(DESTINATIONS)

o 클러스터 2는 총 3개의 도달목표(기대 파급효과)를 제시, 각 도달 목표에 따라 연구 주제가 제시됨

구분	도달목표 (관련 분야)	주제 수 (개)	과제 수 (건)	예산 (백만€)
1	Innovative Research on Democracy and Governance (DEMOCRACY) 민주주의 및 거버넌스 (DEMOCRACY)	15	36	115
2	Innovative Research on European Cultural Heritage and Cultural and Creative Industires (HERITAGE) 유럽문화유산 및 문화창작산업 (HERITAGE)	10	29	186.5
3	Innovative Research on Social and Economic Transformations (TRANSFO) 사회·경제 변혁 (TRANSFO)	12	32	114.6
	총계	37	96	416.1

□ 2025년도 공고(call) 예산 및 예정일

ㅇ 2025년도 클러스터 2의 공모 예정일은 다음과 같음

공고번호	도달목표	신청 기간	예산(백만€)
Horizon-CL2-2025-01	DEMOCRACYHERITAGETRANSFO	5.15~9.16	416.1
	416.1		



[부록] 전체 연구 주제 목록

- ※ 참고: Horizon Europe 사업 유형
- RIA(연구혁신과제): 주로 낮은 기술성숙도(TRL2-6)을 다루는 연구 프로젝트
- IA(혁신과제): 높은 TRL(6-8)을 다루며, RIA 펀딩 비율이 100%인데 반해 IA의 경우 영리 법인에 한해 70% 펀딩 비율을 적용(총 과제 비용의 70%만 지급)
- CSA(조정지원과제): 직접적인 연구 과제는 아니지만 인식 제고, 소통, 네트워킹, 정책 대화. 상호 학습과 같은 수반 과제를 지칭

□ DESTINATION DEMOCRACY (민주주의 및 거버넌스) - 연구 주제

• HORIZON-CL2-2025-01-DEMOCRACY-XX

공고 번호	유형	주제(topic)	과제 수 (건)	과제 당 예산 (백만€)	총 예산 (백만€)
01	CSA	Advisory services and network to counter disinformation and foreign information manipulation and interference (FIMI)	1	3–3.5	3.5
02	CSA	Fostering the consolidation of European science diplomacy	1	2.5-3	3
03	RIA	Understanding the forms of local democracy in low-income and low-middle income countries	3	3-3.5	10.5
04	RIA	Preparing the EU for future enlargement: challenges and opportunities	3	3-3.5	10.5
05	RIA	Open strategic autonomy, economic and research security in EU foreign policy	2	3-3.5	7
06	RIA	Countering and preventing radicalisation, extremism, hate speech and polarisation	2	3-3.5	7



공고 번호	유형	주제(topic)	과제 수 (건)	과제당 예산 (백만€)	총 예산 (백만€)
07	CSA	Towards a European research hub on contemporary antisemitism and Jewish life and culture	1	3-3.5	3.5
08	RIA	Understanding and addressing gender-based violence against politically active women and LGBTIQ people	2	3-3.5	7
09	RIA	The autocratic appeal: nature, drivers and strategies	3	3–3.5	10.5
10	RIA	Economic inequalities and their impact on democracy	3	3-3.5	10.5
11	RIA	Balancing the fight against disinformation and the right to freedom of expression	3	3-3.5	10.5
12	RIA	The role of civic and citizenship education for strengthening civic and democratic participation and support for common European values	3	3-3.5	10.5
13	RIA	Government in transition - how governments change the way they work and prepare the civil service for the future	2	3-3.5	7
14	RIA	Independence of the judiciary as an aspect of rule of law compliance	3	3-3.5	10.5
15	CSA	Community of democracy practitioners and researchers	1	3-3.5	3.5
총 15개 주제 / 36개 과제 / 115백만 유로					



② DESTINATION HERITAGE (유럽문화유산 및 문화창작산업) - 연구 주제

• HORIZON-CL2-2025-01-HERITAGE-XX

공고 번호	유형	주제(topic)	과제 수 (건)	과제 당 예 산 (백 만 €)	총 예산 (백만€)
01	COF UND	Co-funded European partnership for Resilient Cultural Heritage	_	-	75
02	RIA	Innovative approaches to intangible cultural heritage for societal resilience	3	3–4	12
03	IA	A European Collaborative Cloud for Cultural Heritage - Innovative use cases	8	2.5-4	26
04	RIA	Leveraging artificial intelligence for creativity-driven innovation	3	4-5	15
05	RIA	Evolution of culture in a virtualising world	3	2.5-3.5	10.5
06	RIA	Europe as a global powerhouse of design for sustainable competitiveness	3	3.5-4.5	13.5
07	CSA	Cultural tourism for sustainable growth, wellbeing and job creation	1	3-4	4
08	IA	Innovative technologies and methods to counteract illicit trafficking of cultural goods	3	4-5	15
09	RIA	Cultural Strategies for Peace: culture and creativity as catalysts for conflict prevention and post-conflict reconciliation	3	3–4	12
10	CSA	Bridging historical past and future potential through conservation, preservation, and adaptive use of Europe's contentious and dissonant heritage	1	2.5-3.5	3.5
(COFUND 파트너십 제외) 총 9개 주제 / 28개 과제 / 111.5 백만 유로					



③ DESTINATION TRANSFO (사회·경제 변혁) - 연구 주제

• HORIZON-CL2-2025-01-TRANSFO-XX

공고 번호	유형	주제(topic)	과제 수 (건)	과제당 예산 (백만€)	총 예산 (백만€)
01	RIA	Tackling gender-based violence in different social and economic spheres	3	around 3.4	10.2
02	RIA	Historical and regional analyses of industrial transitions and their lessons for ensuring a fair green transition	3	around 3.4	10.2
03	RIA	Working time reduction: barriers, challenges, benefits and policy implications	3	around 3.4	10.2
04	RIA	Gender differences in career trajectories of parents and their implications for gender equality and family well-being	3	around 3.4	10.2
05	RIA	Improving fairness in the economy through a better understanding of undeclared and underdeclared work	3	around 3.4	10.2
06	RIA	Evaluation and use of evidence in education policy and practice	3	around 3.4	10.2
07	RIA	Impact of the learning environment and the use of digital tools in everyday life on key skills and competence development	3	around 3.4	10.2
08	CSA	Impacts of culture and the arts on health and well-being	1	2-3	3
09	RIA	Improving mental health outcomes for people in education, training and work	3	3–5	15



공고 번호	유형	주제(topic)	과제 수 (건)	과제당 예산 (백만€)	총 예산 (백만€)
10	RIA	Good practices for increased autonomy of persons with disabilities, including physical, mental, intellectual and sensory disabilities	3	around 3.4	10.2
11	RIA	Intergenerational fairness in the context of demographic change in the EU	3	3–4	12
12	CSA	Migration and climate change: building resilience and enhancing sustainability	1	2-3	3
총 12개 주제 / 32개 과제 / 114.6 백만 유로					